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Bachelor of Arts (B.A.) Final Examination
ECONOMICS

(Indian Economy, Development and Environmental Economics) (New)
(Optional)

Time : Three Hours] [Maximum Marks : 100

N.B. :— (1) All the FIVE questions are compulsory.
(2) All questions carry equal marks.
(3) Draw diagrams wherever necessary.
(4) Write correct question number to the answer.

1. Choose the correct alternative :—
(1) World Environmental day observed on :

(a) June 5 (b) January 16
(c) August 13 (d) December 14

(2) Environmental education is important only at :
(a) Primary school stage (b) Secondary school stage
(c) College stage (d) All the stages

(3) When did the Government of India passed the Water Prevention and Control Pollution Act ?
(a) 1974 (b) 1969
(c) 1991 (d) 1997

(4) Deforestation generally decreases :
(a) Rainfall (b) Global warming
(c) Drought (d) Soil erosion

(5) In our country percentage of land under forest is about :
(a) 20% (b) 19%
(c) 25% (d) 30%

(6) The major cause of land degradation in our country is :
(a) Soil erosion (b) Pollution of soil
(c) Water logging (d) None of these

(7) Which of the following is not a method for water conservation ?
(a) Rainwater harvesting (b) Ground water extraction
(c) Improving irrigation efficiency (d) Avoiding water wastage
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(8) Kaveri water dispute is in between :
(a) India and Pakistan (b) Punjab and Haryana
(c) Uttarpradesh and Madhyapradesh (d) Karnataka and Tamilnadu

(9) Which human activity causes maximum environmental pollution ?
(a) Urbanisation (b) Industrialization
(c) Water pollution (d) All the above

(10) Extensive planting of trees to increase forest cover is called :
(a) Afforestation (b) Agroforestation
(c) Deforestation (d) Social foresting 2×10=20

2. Explain the basic features of Indian Economy.
OR

What are the reasons for rapid growth of population is India ? How far is family planning effective
in controlling the growth of population ? 20

3. Critically examine the Karl Marx theory of Economic development.
OR

Explain the stages of Economic Development according to Rostow. 20
4. Answer the following questions in about 12 to 15 lines :—

(a) Explain the defect of Agricultural Marketing in India.
(b) Explain the role of small scale and Cottage Industries in the development of Indian Economy.
(c) Explain Land Reforms in India.
(d) Explain the meaning of Green Revolution.

OR
(e) Explain non-institutional sources of rural credit.
(f) Explain the basic characteristics of Indian Agriculture.
(g) Explain the characteristics of Industrial Licencing Policy 1991.
(h) Write short notes on Sub-division and Fragmentation of Land. 5×4=20

5. Answer the following questions in about 12 to 15 lines :—
(a) Explain the objectives and functions of Trade Union.
(b) What are the different causes of Industrial disputes in India ?
(c) Write short notes on Export Promotion.
(d) What are the different types of unemployment in India ?

OR
(e) Write short notes on Import Substitution.
(f) Explain the Foreign trade policy of 1991.
(g) Write short notes on FDI.
(h) Write short notes on MNCs. 5×4=20
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(3) Draw diagrams wherever necessary.
(4) Write correct question number to the answer.

¼ejkBh ekè;e½
1. ;ksX; i;kZ; fuoMk %—

(1) tkxfrd i;kZoj.k fnol d/kh lktjk dsyk tkrks \

¼v½ 5 twu ¼c½ 16 tkusokjh
¼d½ 13 vkWxLV ¼M½ 14 fMlsacj

(2) i;kZoj.k f’k{k.kkps egRo ák Lrjkoj vkgs-
¼v½ izkFkfed ’kkGs; Lrj ¼c½ ek/;fed ’kkGs; Lrj
¼d½ egkfo|ky; Lrj ¼M½ loZ Lrjkoj

(3) Hkkjr ljdkj }kjk tyiznw"k.k fu;a=.k vf/kfu;e dks.kR;k o"khZ dj.;kr vkyk \
¼v½ 1974 ¼c½ 1969
¼d½ 1991 ¼M½ 1997

(4) taxGrksMheqGs loZlk/kkj.ki.ks d’kkr ?kV gksrs \
¼v½ ikÅl ¼c½ oSf’od rkieku

¼d½ nq"dky ¼M½ tfeuhph /kwi
(5) vkiY;k ns’kkr taxykps izek.k ’ksdMk fdrh vkgs \

¼v½ 20% ¼c½ 19%
¼d½ 25% ¼M½ 30%

(6) vkiY;k ns’kkr tfeuhph lqfidrk deh gks.;kps eq[; dkj.k dks.krs \

¼v½ tfeuhph /kwi ¼c½ tfeuhps iznq"k.k
¼d½ ik.kh lk<o.ks ¼M½ ;kiSdh ukgh

(7) tylap;kph [kkyhyiSdh dks.krh i)rh ukgh \
¼v½ ikolkps ik.kh lkBo.ks ¼c½ tfeuh[kkyhy ik.kh dk<.ks
¼d½ tylhapu {kersr lq/kkj.kk ¼M½ ik.;kpk nq#i;ksx VkG.ks

(8) dkosjh ik.kh fookn [kkyhyiSdh dks.kR;k nksu e/;s vkgs \
¼v½ Hkkjr o ikfdLrku ¼c½ iatkc o gjh;k.kk
¼d½ mÙkjizns’k o e/;izns’k ¼M½ dukZVd o rfeGukMw
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(9) dks.kR;k ekuoh ÑR;keqGs i;kZoj.k iznq"k.kkr lokZf/kd Hkj iMrs \

¼v½ ’kgjhdj.k ¼c½ vkS|ksfxdj.k

¼d½ ty iznw"k.k ¼M½ ojhy loZp

(10) ou{ks= ok<fo.;klkBh dsysY;k O;kid o‘{k ykxoMhl dk; Eg.krkr \

¼v½ ouhdj.k ¼c½ Ñ"khouhdj.k

¼d½ taxyrksM ¼M½ lkekftd ouhdj.k 2×10=20
2. Hkkjrh; vFkZO;oLFksph ewyHkwr oSf’k"Vîs Li"V djk-

fdaok
Hkkjrkrhy yksdla[;sP;k tyn ok<hph dkj.ks dks.krh vkgsr \ yksdla[;k ok< fu;af=r dj.;kr ^dqVqac fu;kstu* fdrir
izHkkoh Bjys vkgs \ 20

3. dkyZ ekDlZP;k vkfFkZd fodklkP;k fl)karkps fVdkRed ijh{k.k djk-

fdaok
jksLVksP;k fodklkP;k voLFkkaps Li"Vhdj.k djk- 20

4. [kkyhy iz’ukaph mÙkjs 12 rs 15 vksGhr fygk %—

¼v½ Hkkjrkrhy Ñ"kh foi.kukrhy nks"k Li"V djk-

¼c½ Hkkjrh; vFkZO;oLFksP;k fodklkrhy y?kq o dqVhj m|ksxkaph Hkwfedk Li"V djk-

¼d½ Hkkjrkrhy Hkw&lq/kkj.kk Li"V djk-

¼M½ gfjrØkarhpk vFkZ Li"V djk-

fdaok
¼b½ Ñ"kh iz;;kps xSj laLFkkRed lzksr Li"V djk-

¼Q½ Hkkjrh; ’ksrhph ewyHkwr oSf’k"Vîs Li"V djk-

¼x½ lu~ 1991 P;k vkS|ksfxd ijokuk /kksj.kkph oSf’k"Vîs Li"V djk-

¼g½ Hkwfeps mifoHkktu o vi[kaMu ;koj fVi fygk- 5×4=20
5. [kkyhy iz’ukaph mÙkjs 12 rs 15 vksGhr fygk %—

¼v½ Jfed la?kVusph míh"Vîs o dk;sZ Li"V djk-

¼c½ Hkkjrkrhy vkS|ksfxd la?k"kkZph dkj.ks dks.krh \

¼d½ fu;kZr lao/kZukoj fVi fygk-

¼M½ Hkkjrkrhy csjkstxkjhps fofo/k izdkj dks.krs \

fdaok
¼b½ vk;kr izfrLFkkiu oj Vhi fygk-

¼Q½ 1991 ps fons’kh O;kikj /kksj.k Li"V djk-

¼x½ izR;{k fons’kh xqaro.kqdhoj Vhi fygk-

¼g½ cgqjk"Vªh; fuxekoj Vhi fygk- 5×4=20
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¼fgUnh ekè;e½
1. ;ksX; i;kZ; dk pquko dhft;s %—

(1) fo’o i;kZoj.k fnu fdl fnu euk;k tkrk gS \
¼v½ 5 twu ¼c½ 16 tuojh
¼d½ 13 vxLr ¼M½ 14 fnlEcj

(2) i;kZoj.k f’k{kk dk egRo bl Lrj ij gS %
¼v½ izkFkfed f’k{kk Lrj ¼c½ ek/;fed f’k{kk Lrj
¼d½ egkfo|ky; Lrj ¼M½ lHkh Lrjksa ij

(3) Hkkjr ljdkj }kjk tyiznw"k.k fu;a=.k fuokj.k vf/kfu;e fdl o"kZ cuk;k x;k \
¼v½ 1974 ¼c½ 1969
¼d½ 1991 ¼M½ 1997

(4) taxy dVkbZ ls lkekU;r% fdlesa deh vkrh gS \
¼v½ o"kkZ ¼c½ oSf’od rkieku
¼d½ lw[kk ¼M½ Hkw&{kj.k

(5) vius ns’k esa ouksa dk izfr’kr fdruk gS \
¼v½ 20% ¼c½ 19%
¼d½ 25% ¼M½ 30%

(6) ns’k esa Hkwfe dh mitkÅ ’kfDr de gksus dk eq[; dkj.k D;k gS \
¼v½ Hkw&{kj.k ¼c½ Hkwfe iznw"k.k
¼d½ ty&Hkjko ¼M½ buesa ls ugha

(7) tylap; dh fuEu esa ls dkSulh i)fr ugha gS %
¼v½ o"kkZ ty lap; ¼c½ Hkw&ty nksgu
¼d½ flapkbZ {kerk esa lq/kkj ¼M½ ty dk viO;; Vkyuk

(8) dkosjh ty&fookn fuEu esa fdu nksuksa esa gS \
¼v½ Hkkjr ,oa ikfdLrku ¼c½ iatkc ,oa gfj;k.kk
¼d½ mÙkjizns’k ,oa e/;izns’k ¼M½ dukZVd ,oa rfeGukMw
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(9) fdl ekuo dk;Z }kjk lcls vf/kd i;kZoj.k iznw"k.k gksrk gS \

¼v½ ’kgjhdj.k ¼c½ vkS|ksfxdj.k

¼d½ ty iznw"k.k ¼M½ mijksDr lHkh

(10) ou {ks= dks c<+kus ds fy, fd;k x;k O;kid o‘{k jksi.k dks D;k dgrs gSa \

¼v½ ouhdj.k ¼c½ Ñf"kouhdj.k

¼d½ taxy dVkbZ ¼M½ lkekftd ouhdj.k 2×10=20
2. Hkkjrh; vFkZO;oLFkk dh ewyHkwr fo’ks"krk,¡ Li"V dhft;sA

vFkok
Hkkjr esa tula[;k ds rhoz o‘f) ds dkj.k dkSuls gSa \ tula[;k o‘f) dks fu;af=r djus ds fy, ifjokj fu;kstu
dgk¡ rd izHkkoh jgk gS \ 20

3. dkyZ&ekDlZ ds vkfFkZd fodkl ds fl)kar dk vkykspukRed ijh{k.k dhft;sA

vFkok
jksLVkso dh vkfFkZd fodkl dh fofHkUu voLFkkvksa dks Li"V dhft;sA 20

4. fuEufyf[kr iz’uksa ds mÙkj 12 lss 15 iafDr;ksa esa fyf[k, %—

¼v½ Hkkjr esa Ñf"k foi.ku ds nks"k Li"V dhft;sA

¼c½ Hkkjrh; vFkZO;oLFkk ds fodkl esa y?kq ,oa dqVhj m|ksxksa dh Hkwfedk Li"V dhft;sA

¼d½ Hkkjr esa Hkwfe&lq/kkj Li"V dhft;sA

¼M½ gfjr&Økafr dk vFkZ Li"V dhft;sA

vFkok
¼b½ Ñf"k lk[k ds xSj laLFkkxr lzksr crkb;sA

¼Q½ Hkkjrh; Ñf"k dh ewyHkwr fo’ks"krk,¡ Li"V dhft;sA

¼x½ lu~ 1991 ds ykblsUl uhfr dh fo’ks"krk,¡ Li"V dhft;sA

¼g½ Hkwfe dk mifoHkktu o vi[kaMu ij fVIi.kh fyf[k;sA 5×4=20
5. fuEufyf[kr iz’uksa ds mÙkj 12 ls 15 iafDr;ksa esa fyf[k;s %—

¼v½ Je la?k ds mís’; ,oa dk;Z Li"V dhft;sA

¼c½ Hkkjr esa vkS|ksfxd la?k"kZ ds dkj.k dkSuls gSa \

¼d½ fu;kZr lao/kZu ij fVIi.kh fyf[k;sA

¼M½ Hkkjr esa csjkstxkjh ds izdkj dkSuls gSa \

vFkok
¼b½ vk;kr izfrLFkkiu ij fVIi.kh fyf[k;sA

¼Q½ 1991 dh fons’kh O;kikj uhfr Li"V dhft;sA
¼x½ izR;{k fons’kh fuos’k ij fVIi.kh fyf[k;sA

¼g½ cgqjk"Vªh; fuxe ij fVIi.kh fyf[k;sA 5×4=20
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